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1. This question paper contains total seven questions.
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2. Attempt total five questions i.e. three questions from Section-I including compulsory
question No.I and the remaining two questions from Section-I1.
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3. Each question carries equal marks. Marks are divided and indicated against each part of
the question. Write answer in legible handwriting. Each part of the question must be
answered in sequence and in the same continuation.
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4. Attempts of questions shall be counted in sequential order. Unless struck off, attempt of
question shall be counted even if attempted partly. Any page or portion of the page left
blank in answer book must be clearly struck off.
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5. Re-evaluation / Re-checking of answer book is not allowed.
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Section-I
ge-1
1. Write short notes on the following:
Feferfera o d@ferm feoafim fore:
(i)  Chronology and culture of early stone age in India (10)
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(i) Estimating heritability from twin study and its application (10)

S[EAT STEAAT & ATTATTAHAT T STHTT AT TAT THeh SATITIRT

Page 1 of 2



. Discuss the typo-technological evolution of stone tools during various prehistoric cultural
periods. (20)
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. How does consanguineous marriage influence the inbreeding coefficient of a population?
Discuss the genetic consequence of such marriage. (20)
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. What is autosomal mode of inheritance of a Mendelian trait in man? How would analysis

of Pedigree determine its mode of inheritance? Illustrate your answer with examples.
(20)
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Section-11
ge-11

. Discuss the physiological and genetical adaptation of human to high altitude environment
by citing examples. (20)
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. Write short notes on the following:

fRerferfera o gfer feoafor o

(1)  Establishing personal identification from bone (10)
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(i1) Give your assessment of the reasons for imbalance in the sex-ratio in India. (10)
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. Discuss the different traditional forms of religion in tribal societies. (20)
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